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° I Tg F T F 59 w97 § FRT T 16 T
97 19 &

Please make sure that the printed pages in this
question paper are 16 in number and it contains

19 questions.

o ysT-g7 # qE7 &ry # 3 [T T8 S TR 797 q FH
5 FT-Gieasl & JET-99 97 [7q)

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4911/(Set : A)

o FYT 97 F TV [0ET Y& FT @ Y, FeT B HHE
g [ered
Before beginning to answer a question, its Serial

Number must be written.
o FTv-giTem & S H @il G/ 91 T 88l
Don’t leave blank page/ pages in your answer-book.

o FTCYRTH % GifaRF g o o T A o
STEEAET & @ 3T forar Fav T #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o ghETlf STy U To FIT-UH YT S/geT fid)

Candidates must write their Roll Number on the

question paper.

o FyI go7] & TAT &7 § @ 98 GrRad & o [ 99797
g7 7 el & gher F I 30 a9 7 FHg A @
B TEl AT T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4911/(Set : A)



(3) 4911/(Set : A)

G [7397 -
() @ g7 SErd &

(i) ¥9% 9§97 H [gRa % 39 T RU
T 8

(ii) o7 @& 1 B Qe (iocvi) TGS e F dreT
T 81 5 T 1 o H 81 [RUgET 37 Jo7 &
Fv &forgy

(v) 797 G&T 2 & 8 % ST-TgTIHE F7 & ord
T9% J97 2 STH F &1 JEF B IFGT AHET
30 9= @ oife el & @Ry

(v) F97 dEr 9 @ 16 % TETIHE F7 & forH
JR% J97 4 S # 81 F9F F I THAT
60 9] @ 9% T8 &l Tl

(vi) F97 TEr 17 @ 19 % 9 FovTs 597 & o
J9% 97 6 GIF #H & F9% #FH FIT THET:
130 9= @ o7 &7 & anEw

(vii) T4 &% FaEE g9 F oTiE g a8
oa g9t § @ ofyml HIT TF & F97 FHA 8

(viii) T G, GEAIHE T G dlT J9 T
g 7ET &l

4911/(Set : A) P.T.O.
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General Instructions :
() All questions are compulsory.

(i) Marks for questions are indicated against
each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as
per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed
30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed
60 words each.

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

(viii) Word limit is not applicable to formulae,
numericals and diagrammatical questions.

4911/(Set : A)



(5) 4911/(Set : A)
[ TS 9% ]

[ Objective Type Questions ]
=T SglamediT g9 % @8 [dwey gl

Choose the correct alternatives of the following

multiple choice type questions :

1. () [effed & § a9-d4 SIS afers aggstt &
JEEA B ° 1
(1) R IR Yo
(@) @@ IR 3w
(|) forepr, =it i
& &

Which pair of the following goods is the

example of substitute goods ?
(A) Car and Petrol

(B) Coffee and Milk

(C) Limca, Pepsi Cola

(D) All of the above

4911/(Set : A) P.T.O.



(6) 4911/(Set : A)

(i) 9 SR H ®RX LI Bl 8, 99 R
Bl B 1

(31) oo

(3) oS

(®) ¥

(7) ofted=sid @F & SXER

When level of Production is Zero then the
Fixed Cost is :

(A) Positive
(B) Negative
(C) Zero
(D) Equal to Variable Cost
(iii) @& FHIEHT o 1
(3) TR==x AR

_ AR

@) TR-= 5
(@ Mr=A2IR
AQ

(& AR=TRxQ

4911/(Set : A)



v)

(7) 4911/(Set : A)

Choose the right/correct equation :

(A)
(B)

©)

TR=X AR

TR = AR
0

v~ ATR
AQ

(D) AR=TRxQ
(iv) 59 IR ® faspa QFal & W aar ® 7 1
() ot s

(@) uemrER

(®) orget wfcrfan

(&) T & F8 T

Selling costs has importance in which

market ?

(A)
(B)
©)
(D)

Perfect Competition
Monopoly
Imperfect Competition

None of these

TS MG & TezgT an & ¢ 1

(1) TufeTa arefsmer |
(3) =fem orismer |
(|) o srefsme
(@) =@ & #E

4911/(Set : A)

P.T.O.
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National Income is studied in :
(A) Macro Economics
(B) Micro Economics
(C) Public Economics
(D) None of these
(vi) M A9 F T B | 1
(&) zem =&
(@) omw W
(@) T ST
(3) e T
Balance of Payments includes :
(A) Visible items
(B) Invisible items
(C) Capital transfer
(D) All of the above
(vii) Frfofag & & =8 TFT @ TR d9- fafy
T ee ? 1
() o Ry &
(@) o= fafy #
(@) Sw= fofy
(@) wwdem a3

4911/(Set : A)



(9) 4911/(Set : A)
Which of the following methods deals with
the problem of double counting ?
(A) Income Method
(B) Expenditure Method
(C) Product Method
(D) All of the above

[T &7 @8l & a1 T, FAT -

State whether the following statements are true

or false :
(vili) FoTe 3@ B TH-IAE @ A FEd &l 1

Budget line is also known as Iso-product

line.
(ix) FA AW = FA SN ACE + HA IREANA AR
1

Total Cost = Total Fixed Cost + Total
Variable Cost

(x) TS FOT W N Jaf0ds oF d b fear
ST 2| 1

Personal income includes interest on

national debt.

4911/(Set : A) P.T.O.



(10) 4911/(Set : A)

(xi) T FRAY I F T | MK FHxar B 1
'Induced investment' depends on the level
of income.

(xii) TR H IESH Pl B Tel ol debell 1
A producer can not suffer loss in short
period.

(xiii) TS AR FOH Fbe JaT B 1

Bonds and debit papers are near money.

(xiv) TCQUEE TR g & AN T=d ol &
B &l 1

As per Classical Theory of Employment

Saving is a function of rate of interest.

RaT &7 9¢ -

Fill in the blanks :

(xv) BN ..oooveenen. IqE T (GEdiaRer/awdtasE) 1
Scholarship is ............. Income.
(Transfer/Real)
. 1 1
xvi) JUTh I = s / .
(i) ES (1— MPC MPC j
Value of multiplier = ........ ( ! / ! j
1-MPC MPC

4911/(Set : A)



(11) 4911/(Set : A)

[ - 99 |
[ Very Short Answer Type Questions ]

2. FHRT e R e § 7 2
What do you mean by Macro Economics ?

3. WM & Ufied & SAUH 1 AR B 2
What do you mean by Returns to Scale ?

4. | % HAG A9 R FEd S 7 2
What do you mean by Price Elasticity of
Demand ?

5. frsh ga1 & 4 sagFw el 8 ? 2
Why foreign currency is needed ?

6. fas 8 Fad 8 7 2
Give the meaning of Investment.

7. 9% W 9 ‘AR I H AR AR 2
Differentiate between 'Bank Rate' and 'Interest
Rate' ?

8. M AV 8 Fed § ? 2

What is Balance of Payments ?
4911/(Set : A) P.T.O.



10.

11.

12.

13.

(12) 4911/(Set : A)

[ RIS 5999 ]
[ Short Answer Type Questions ]
HIRE e & Haq & g i) 4

Explain briefly the Internal Economies.

AR Y ®ed B ? oUNeR & el @
frQreaett &1 auig #ifs) 4

What is Oligopoly ? Explain any four features of

oligopoly.
IRECHLi ARG a1 S Rl B Al @ @
e § aHeRy| 4

Explain variable costs or prime costs with the

help of table and diagram.

e HifT| 4

Explain the difference between 'full employment

equilibrium' and 'underemployment equilibrium'.

FHEGT & WIRATE P g G 39S geht B A
quN HifoTq 4

Define Compensation of Employees. Also explain

its components.

4911/(Set : A)



(13) 4911/(Set : A)
14. A0 & W & ST9aRl & aoue i 4
Explain the Exceptions to the Law of Demand.

15. T i PR d el Tishdl @M H HEEar d
SEEIEY 4

Explain the forward and backward action of

Multiplier with the help of diagram.

16. frrfcied dicreer i qa IR - 4
JAET | %A AN | A URaaHdi| | diEid
ERIER (B0) SIUG| AT
0 12 — —
1 18 — —
2 21 — —

Fill the following table :

Production | Total Cost | Total Variable | Marginal
(Units) (Rs.) Cost Cost
0 12 — —
1 18 — —
2 21 — —

4911/(Set : A) P.T.O.
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[ S SAUEE 9T |

[ Long Answer Type Questions ]

17. A1 HAd A Y FBd & 7 3ER A B HA AT
ffy 1 goi i) 2+4=6

What is Price Elasticity of Demand ? Explain the

total expenditure method to measure it.
STYar
OR

o % | A AR R ? 39 dife 9 @iRE @
HEEd § WL FHOMW ghh A b B B BN D
AT i 2+4-=6

What is Law of Demand ? Explain it with the
help of table and diagram. Also explain the

causes why demand curve slope downward ?

18. U YOI SR ol G [RIdred # au Hiom 6

Explain the main features of perfect competition

market ?

4911/(Set : A)
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Fear
OR
FrT oifel & oK W IOR HMd W Fad (J8) RE
I T HIFT 6
77 599
(i) e oIy #X 100

(i) T TS B ST 200
(ili) HHERA B TRAFE 2,000
(iv) SeTe-SAEey 500

(v) TSR I Rt
o W@ ™ 1,500

From the following data calculate Net Domestic
Product at market price — NDPwp :

Items Rupees
(i) Net Indirect Tax 100

(i) Consumption of
Fixed Capital 200

(iii Compensation of
employees 2,000

(iv) Operating Surplus 500

(v) Mixed income from

self-employed people 1,500

4911/(Set : A) P.T.O.



(16) 4911/(Set : A)
19. dliciebl & Y@fes & TeEd § gfd d e g gfd
HepE Hl THAET 6

Explain with the help of table and diagram

extension and contraction in Supply.

e
OR

Yige A QW B b FA H IUE W A0

HITTT| 6

Explain the measures to correct Adverse Balance

of Payments.

4911/(Set : A)
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° I Tg F T F 59 w97 § FRT T 16 T
97 19 &

Please make sure that the printed pages in this
question paper are 16 in number and it contains

19 questions.

o ysT-g7 # qE7 &ry # 3 [T T8 S TR 797 q FH
5 FT-Gieasl & JET-99 97 [7q)

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4911/(Set : B)

o FYT 97 F TV [0ET Y& FT @ Y, FeT B HHE
g [ered
Before beginning to answer a question, its Serial

Number must be written.
o FTv-giTem & S H @il G/ 91 T 88l
Don’t leave blank page/ pages in your answer-book.

o FTCYRTH % GifaRF g o o T A o
STEEAET & @ 3T forar Fav T #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o ghETlf STy U To FIT-UH YT S/geT fid)

Candidates must write their Roll Number on the

question paper.

o FyI go7] & TAT &7 § @ 98 GrRad & o [ 99797
g7 7 el & gher F I 30 a9 7 FHg A @
B TEl AT T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4911/(Set : B)



(3) 4911/(Set : B)

G 73T -

() & g7 AT &8

(i) ¥9% 9§97 H [gRa g% g T kU
77 8

(iii) o7 T@r 1 F G (i-xvi) TGS FoT 7 der
T 81 5% T 1 9% F 81 [RUgEr §7 T %
gav &

(iv) 797 e 2 @ 8 7% ST-TgaTE 557 & g
T&% J97 2 Gi# F &1 JE9%F B I A
30 9= @ 39% el & e

(v) Fo7 dEr 9 7 16 % TETIHE Fo7 & frH
JR% J97 4 S # 81 F9F F I THAT
60 9] @ 9% T8 &l Tl

(vi) F97 TEr 17 @ 19 % 9 FowEs 597 & o
g% F97 6 SIH F 81 FEF F IIT GHEAT:
130 9] @ Sifg® 78 & e

(vii) T dF FaEE FEH 7 SRE g FYTH &
qa g9t § @ ofyml HIT T & F97 FHA 8

(viii) I=-HAT G, G&IqE T G dd FeA 97
g 7ET &l

4911/(Set : B) P.T.O.




(4) 4911/(Set : B)

General Instructions :
() All questions are compulsory.

(i) Marks for questions are indicated against
each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed
30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed
60 words each.

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

(viii) Word limit is not applicable to formulae,
numericals and diagrammatical questions.

4911/(Set : B)



(5) 4911/(Set : B)
[ TGS 58 ]

[ Objective Type Questions ]
=T SglamediT g9 % @8 [dwey gl

Choose the correct alternatives of the following

multiple choice type questions :

1. (i) f=fofag & @ f9-a1 afe spdaes & e
g7 1

(&) T o
(@) @ oA
(7) =R =%
(x) =1 @ s

Which of the following is a study of Micro

Economics ?

(A) National income
(B) Aggregate demand
(C) Trade cycle

(D) Law of demand

4911/(Set : B) P.T.O.



(6) 4911/(Set : B)
(i) GEIesE g X B H AW T B okl & ¢ 1
() o=
(@) e
() =T
(/) = ¥ B &

At break even point, profit and loss of the

firm are :
(A) Zero
(B) Positive
(C) Negative
(D) None of these
(i) 3R d=r IuT HgfT (MPC = 1) @& B, @ %

B 1
(%) g @) w
(®) @ () o

If MPC = 1, then multiplier will be :
(A) Zero (B) One

(C) Two (D) Infinity
4911/(Set : B)



(7) 4911/(Set : B)

(iv) STgER A & 1 & : 1
(31) STl depieues SRENT @1 AN

(3)
()
(%)

GIE | CEASIR]
ENASIRG]
ST § § $ig el

The Opportunity Cost means :

(A) Cost of next alternative use
(B) Real Cost
(C) Total Cost
(D) None of these
(v) T8 IO & BH 0% PFd @ERs © 7 1
(31) TR
(@) et et
() wmtEERrt Sff
(&) 3z & *E T

In which market a firm is Price taker ?

(A)
(B)
©)
(D)

4911/(Set : B)

Monopoly
Perfect Competition
Monopolistic Competition

None of these

P.T.O.



(8) 4911/(Set : B)
(vi) -8 it & HAT H BRT B 7 1

Which of the factors lead to decrease in

Supply ?

(A) Fall in input price

(B) Increase price of other goods
(C) Increase in excise tax rate
(D) None of these

(vii) fr=ifciieg & & SF-91 sed I9d 8 7 1

4911/(Set : B)



(9) 4911/(Set : B)

Which of the following is an external

economies ?

(A) Technical Economies
(B) Managerial Economies
(C) Economies of Risk

(D) Economies of Information

=it w7 a8 & a7 T, IaET -

State whether the following statements are true

or false :

(viii) G991 U o H it B B 1
Pension is included in National Income.

(ix) Gt o1 &b F R B 1
There is difference between supply and
stock.

(x) Hed SwT & A P W A S Bl 1

Law of diminishing returns is applicable on

agriculture.

4911/(Set : B) P.T.O.



(10) 4911/(Set : B)

(xi) I AT H Rl ¥ WERX B A F 9 @ A
Tel ST AT 1

In case of deficient demand government

should not adopt policy of deficit budget.

(xii) TG € B BT F gha AT A gha B BR
B Bl 1

Rise in the price of substitute goods is the

cause of increase in demand.

(xiii) AT T B 49 BT ST 2 1
Scare means are called wealth.
(xiv) F&T & Faq Bl Ale i 6T S 2 1

Money consists of currency notes only.

RaT &7 &% -

Fill in the blanks :

(xv) ArE AT & ARTHE STET ... .
(ga SR %1 fRamd /oer FRiaTe)

Quantitative Instruments of credit control
1S tiviieinns .

(Open market operations/Direct Actions)

4911/(Set : B)



(11) 4911/(Set : B)

(xvi) SO T YaT6 & ......... 2| 1
(sror /R an o)

Saving is ......... in the circular flow of
Income. (Injection/Leakages)
[ SHfT-eTgEeT® e ]

[ Very Short Answer Type Questions ]

2. FUR AT T YH F1 AR 2 ? 2

What do you mean by Balance of Trade ?

3. Tl I% @ ) YA saEy 2

Explain two features of Indifference Curve ?

4. Fr=1 Hife i awgelt @ @1 AtmE B 7 2

What is meant by inferior goods ?

5. Ufd & fre @ e ? 2

What is Law of Supply ?

6. TSN i 58 &ed § 7 2

What is Fiscal Policy ?
4911/(Set : B) P.T.O.



(12) 4911/(Set : B)
7. MfEF AT F 7 ? 2

What is Involuntary Unemployment ?

8. [HE=IvT g T U H9d ¥ oY FT s & ¢ 2

What do you mean by Control Price and Support

Price ?

[ RIS 5999 ]

[ Short Answer Type Questions ]

9. i THEm fFY @ed € ? D BRON B ARAT
Eﬁﬁm 4

What is Economic Problem ? And also explain

the causes of economic problem.

10. VN 3 ufowd’ g ‘@Ed gfawd’ § SR @l are
Eﬁﬁm 4

Explain the difference between 'Returns to a

Factor' and 'Returns to Scale'.

11, 7 A0 & 3 B & o A AT &1 aoi B 4

Explain monetary policy to correct deficient

demand.

4911/(Set : B)



(13) 4911/(Set : B)

12. H0 % «/F F g9Ed FA a9 @ dw@l H dUA
WI 4

Explain five factors affecting the price elasticity

of demand.
13. & & HEG-FERT § G TE & He™ W AUA
WI 4

Explain the importance of time element in the

determination of price of a good.

14. TS 3 QP & Ao Hl 489 § JasU 4

Explain briefly the significance of National

Income Accounting.

15. Thifas a0 @ 491 AW 3 ? @R I9EY) 4

Explain the meaning of inflationary gap and also

draw its diagram.

16. o diferenl § o @ (TR) q91 €9id 3@ (MR)
fFepTfe 4

Sae Agd o | FA I | HHi T

9

(rea) | (Fw) | (8W) (593)

5 6 — —
4 7 — —
3 8 — —

4911/(Set : B) P.T.O.



(14) 4911/(Set : B)

From the following data find out MR and TR :

Production |Average Price|Total Revenue| Marginal
(Units) Income (Rs.) (Rs.) Revenue
(Rs.)
5 6 — —
4 7 — —
3 8 — —

[ & SIS 997 ]

[ Long Answer Type Questions ]

17. Heq-9%q YUG & EH H TCEH a @M & &N
AT FHITT 6

Explain the law of variable proportions with the

help of table and diagram.
e
OR

T P BT A R B R B A TRU 6

Explain the degrees of price elasticity of demand

with diagram.

4911/(Set : B)
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18. T&T %l URWINT AT 36 HET Bl U HISQU 2+ 4=6

Give the meaning of Money and also explain its

Functions ?

T
OR
e offret & oTIR WX olEd o9 (AR) 9o 9
& (MR) S i : 6
SUET | 9 W | ofbd g | €iEid o™
(=) | (59 (573)
1 20 _ _
2 36 — —
3 48 — —
4 56 — —
5 60 — —
6 60 _ _
7 56 — —

4911/(Set : B) P.T.O.



From the following data find out Average

(16)

4911/(Set : B)

Revenue (AR) and Marginal Revenue (MR) :

Production
(Units)

Total Revenue
(Rs.)

Average
Revenue

Marginal
Revenue

1

20

36

48

56

60

60

N oo AW N

56

19. TS T P A0 ‘SR Ay &1 qoe ifsw

Explain the

National Income.

YT
OR

'Product Method' of measuring

SR &l qe&d ARAret H ao Hivr|

Explain the main features of Oligopoly.

4911/(Set : B)
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° I Tg F T F 59 w97 § FRT T 16 T
97 19 &

Please make sure that the printed pages in this
question paper are 16 in number and it contains

19 questions.

o ysT-g7 # qE7 &ry # 3 [T T8 S TR 797 q FH
5 FT-Gieasl & JET-99 97 [7q)

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4911/(Set : C)

o FYT 97 F TV [0ET Y& FT @ Y, FeT B HHE
g [ered
Before beginning to answer a question, its Serial

Number must be written.
o FTv-giTem & S H @il G/ 91 T 88l
Don’t leave blank page/ pages in your answer-book.

o FTCYRTH % GifaRF g o o T A o
STEEAET & @ 3T forar Fav T #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o ghETlf STy U To FIT-UH YT S/geT fid)

Candidates must write their Roll Number on the

question paper.

o FyI go7] & TAT &7 § @ 98 GrRad & o [ 99797
g7 7 el & gher F I 30 a9 7 FHg A @
B TEl AT T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4911/(Set : C)



(3) 4911/(Set : C)
G [7397 -
() @4 ge7 Snfard &

(i) FAF F9T F [ERT F FHH GET RU
7T &
(ii}) 707 @@ 1 B @de (i-xvi) Fege ged & et

T 81 5% T 1 9% FH &1 [RUgEr 57 T &
gav &

(v) 797 G&T 2 & 8 % ST-TgTIHE F7 & ord
T9% J97 2 ST# F &1 JEF B FGT AHET
30 9= @ oife el & @Ry

(v) Fo7 GEr 9 7 16 % TEgTIHE FoT & [
J9% 97 4 GIF # & F9%F FH FIT THAT:
60 9= G oifde &7 & TEw

(vi) F97 TEr 17 @ 19 % 9 FovTs 597 & o
J9% 97 6 GIF #H & F9% FH FIT THAT:
130 9= @ o7 &7 & anEw

(vii) T4 &% FaEE g9 F oTiE g a8
qa g9 § @ iyl HIT TF & F97 FHOA 8

(viii) I=-HAT G, G&IqE T G dd FeA 97
g 7ET &
4911/(Set : C) P.T.O.




(4) 4911/(Set : C)

General Instructions :
() All questions are compulsory.

(i) Marks for questions are indicated against
each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as
per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed
30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed
60 words each.

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

(viii) Word limit is not applicable to formulae,
numericals and diagrammatical questions.

4911/(Set : C)
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[ TS 9% ]

[ Objective Type Questions ]
it agfmaly geat # wa AweT gha -
Choose the correct alternatives of the following
multiple choice type questions :
1. () 9RG T ‘TH S0 & A A TG HA S P A

() Ford ¥ o e

(@) =RamT @R

(|) g

(3) 9Ra E&@R

Who issues 'one Rupee note' in India ?

(A) Reserve Bank of India

(B) Government of Haryana

(C) President

(D) Government of India

i = % @ 59 &9 o H @ 7@ &
S ? 1

(1) =X qamd (@) weradt awgd
(|) e o (7)) S @
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Which of the following will not be included

in the National Income ?
(A) Domestic Services
(B) Intermediate Goods
(C) Transfer Income
(D) All of the above
(iii) P agg @ Refa & A1 a6 & oA o @ ;1
(&) e
(3) oS
(|) ox-318 & TR
(3) oy-o1& & FHMIRX

In case of giffen goods the slope of demand

curve is :

(A) Positive

(B) Negative

(C) Parallel to ox

(D) Parallel to oy
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(iv) 5§ @Hid JFOET gedl 5, q9 FI SURA H H;
ST B § 7 1
(37) e
(@) R
(|) ot X & o ©
(3) = & #8 T

When marginal production decreases then

what is position of total production ?
(A) Maximum
(B) Constant
(C) Increase at the decreasing rate
(D) None of the above
(v) &g g 1

(& apc- A€
AY

(@ mpc- !
1- APC

(7) K- _ 1
1— MPC

@ K=—

" 1-MPS
4911/(Set : C) P.T.O.
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Find out the right equation :
(A) APC-= ac
AY

1

(B) MPC =
1—- APC
(C) K=;
1- MPC
1
) K= ups
(vi) “off =@ o WA SO FXA 217 TS FH
forgem 2 7 1
(37) wsta
(®) et
(|) Sto do @
() ==

"Supply creates its own Demand." Who said

this statement ?

(A) Marshall
(B) Keynes
(C) J.B. Say
(D) Robbins
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(vii) frefafea & § S-a1 Tt @)X & 7 1

(31) TSR 1 R
(@) @ a=

(/) M @1 R
(3) =g F

Which of the following is a macro variable ?

(A) Theory of employment
(B) Price elasticity

(C) Theory of Rent

(D) Price of a commodity

[T &7 @8l & a1 T, FAT -

State whether the following statements are true

or false :
(viii) T T B SEq qor A § ater o g

Disposable income 1is divided between

saving and investment.

(ix) ged Swd & FEH 99 aF] Bl & o9 g |
NECRENIC I I 1

Law of diminishing returns is applicable

when all the factors are variable.

4911/(Set : C) P.T.O.
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(x) SET GHET 9% H SRR G 3@r 2iar 81

The slope of the Production Possibility

Curve is Straight Line.

(xi) X T HLA P B 1
Tax is a legal payment.
(xii) & T I TH-EL Bl HIC Thd 1

Two indifference curve can cut each other.
(xiti) T B i SRR B 1
Supply of milk is inelastic.
(xiv) Yol TX ST TF Ha16 = B 1
Interest on Capital is a Flow Variable.

Fill in the blanks :

(Grer e, /)

............. included in money.

(Only Coins/Currency)

4911/(Set : C)
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(xvi) & T YO AT SR & oo, | 1

Keynes multiplier was known as ......... .

(Employment Multiplier/Investment Multiplier)

[ SHi-TERRIeT® 989

[ Very Short Answer Type Questions ]

2. oiadr dEEr gt B #ed © ? 2

What is Perfectly Elastic Supply ?

3. TR oM 9 Fed & ? 2

What do you mean by Personal Income ?

4. 97 917 58 Fed § 7 )

Give the meaning of Aggregate Demand.

5. fasT ToR6 & GROM | 9 FT THAS © ¢ 2

What do you mean by the concept of Investment
Multiplier ?

6. STfE® S fFa @ed B ? 2

Give the meaning of Involuntary Unemployment ?

4911/(Set : C) P.T.O.
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7. AT IR &1 el & 7 IaTeYe Ay 2

What are Substitutes Goods ? Give its example.

8. o e = g ? 2

What is an Economic Problem ?

[ TR 999 ]

[ Short Answer Type Questions ]

9. ‘GrEM 3 Uik’ dW YN B gl H o W
Eﬁﬁm 4

Distinguish between 'Returns to a Factor' and

'Returns to a Scale'.

10. AT & HAG @= B A H Afoa [y ar g
fafer @1 aui hifTy 4

Explain Percentage method or Proportionate
method to measure the Price Elasticity of

Demand.

11. P19 9% qo ‘AURE o5 § T P AR Hio 4

Explain the difference between 'Centre Bank' and

'Commercial Bank'.
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12. = offwsl @ olled @G (AC) am dMid @F (MC)

S T 4
SURA | %9 Ar | Sied and | i e
(zF) | (59) R (57)

1 20 — _
2 28 _ _
3 34 _ _
4 38 — —
5 42 — —

From the following data find out Average Cost (AC)
and Marginal Cost (MC) :

4911/(Set : C)

Production | Total Cost | Average | Marginal
(Units) (Rs.) Cost (Rs.) | Cost (Rs.)

1 20 — —

2 28 — —

3 34 — —

4 38 — —

5 42 — —
P.T.O.




13.

14.

15.

16.

17.

(14) 4911/(Set : C)

gl @1 A= B gl FA A el B aU T 4
Explain the factors affecting Elasticity of Supply.

THR] 99T 1 & 7 399 el H U off FifTw 4

What is Government Budget ? Explain its

objectives also.

Tl SRR SR § SicaehE # R 9ER OF BH g
ST 1 BT Al & 2 3@ &R gy 4

How a firm earns super-normal profits in short
period under perfect competition market ?

Explain with diagram.
‘THIRHT T Qor SRR & Hi3 g7 AR ARy 4
State any four differences between 'Monopoly'
and 'Perfect Competition'.
[ € SR 99 |
[ Long Answer Type Questions ]

THER fF8 Fed © ¢ T e faddel & ave
?ﬁﬁﬂ'\’l 2+4=6

What do you mean by Monopoly ? Explain its

features also.
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T
OR

e & ged Uidhd & MaH S e diiiel ael @i

% T 9 i 6

Explain the law of diminishing returns to factor

with the help of table and diagram.

18. HE MEHI0T %l AR [t @i e s 6
Explain quantitative methods for controlling
credit.

HYqT
OR
=T fiicTeRT bl X7 il 6
FRE | FI I@E | Sed SIRIRE
ERAERIl (593) I I
1 20 — —
2 — — 18
3 — — 16
4 — — 14
5 — — 12
6 — — 10

4911/(Set : C) P.T.O.
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Complete the following table :

Factor Total Average | Marginal
Units Product (Rs.) | Product | Product
1 20 — —

2 B — 18
3 o — 16
4 o — 14
5 o — 12
6 o — 10

19. AT F Fug T FY Fed & ? ZHR gWAd B A
Al T aUE I 24+4=6

What is Price Elasticity of Demand ? Explain the
factors affecting the price elasticity of demand.

T
OR
TS ST @l 919 @ ‘o9 fafy & aren @ik 6

Explain "Income Method" of measuring National
Income.

4911/(Set : C)
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° I Tg F T F 59 w97 § FRT T 16 T
97 19 &

Please make sure that the printed pages in this
question paper are 16 in number and it contains

19 questions.

o ysT-g7 # qE7 &ry # 3 [T T8 S TR 797 q FH
5 FT-Gieasl & JET-99 97 [7q)

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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o FYT 97 F TV [0ET Y& FT @ Y, FeT B HHE
g [ered
Before beginning to answer a question, its Serial

Number must be written.
o FTv-giTem & S H @il G/ 91 T 88l
Don’t leave blank page/ pages in your answer-book.

o FTCYRTH % GifaRF g o o T A o
STEEAET & @ 3T forar Fav T #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o ghETlf STy U To FIT-UH YT S/geT fid)

Candidates must write their Roll Number on the

question paper.

o FyI go7] & TAT &7 § @ 98 GrRad & o [ 99797
g7 7 el & gher F I 30 a9 7 FHg A @
B TEl AT T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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G [7397 -
() @ g7 SErd &

(i) T&9% 97T F [ERa oiF 3GH T@HT RT
T 81

(iii) o7 T@r 1 F GTE (i-xvi) TGS FoT 7 T
T 81 5 T 1 6 H 81 [RUgErT 37 J7 %
Fv &forgy

(v) 797 G&T 2 & 8 % ST-TgTIHE F7 & ord
T9% J97 2 STH F &1 JEF B IFGT AHET
30 9= @ oife el & @Ry

(v) F97 dEr 9 @ 16 % TETIHE F7 & forH
JR% J97 4 S # 81 F9F F I THAT
60 9] @ 9% T8 &l Tl

(vi) F97 TEr 17 @ 19 % 9 FovTs 597 & o
J9% 97 6 GIF #H & F9% #FH FIT THET:
130 9= @ o7 &7 & anEw

(vii) T4 &% FaEE FeH F STiE g FaE 8
oa g9t § @ ofyml HIT TF & F97 FHA 8

(viii) T G, GEAIHE T G dlT J9 T
g 7ET &l

4911/(Set : D) P.T.O.
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General Instructions :
() All questions are compulsory.

(i) Marks for questions are indicated against
each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed
30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed
60 words each.

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

(viii) Word limit is not applicable to formulae,
numericals and diagrammatical questions.
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[ TS O |

[ Objective Type Questions ]
=T SglamediT g9 % @8 [dwey gl

Choose the correct alternatives of the following

multiple choice type questions :

1. (i) QB0 T & GaEed TS 3T H o......... oo

As a result of double counting National

Income is :

(A) Overestimated

(B) Underestimated

(C) Correctly estimated

(D) All of the above

4911/(Set : D) P.T.O.
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(i) Frfofed & ¥ PF-T 0 s=d ¥ ? 1

Which of the following is External

Economies ?

(A) Technical Economies

(B) Managerial Economies

(C) Labour Economies

(D) None of the above
(ili) omfdew e & G€Y ® : 1
(@) o
(3) Qe
(@) @t &1 &
(z) <ifra aest & g 9@
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Economic Problem is related to :
(A) Poverty
(B) Unemployment
(C) Black money

(D) Choice of scarce means

(iv) ‘AR Red o & o e A H gg 7 o

In which year "Reserve Bank of India" is
established ?

(A) 1905
(B) 1925
(C) 1935
(D) 1949

4911/(Set : D) P.T.O.
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(v) Ffafed § @ H9-91 Jae =X 787 8 ? 1
(s) A
(@) i B
(®) e
(3) = & =g T

Which of the following is not a flow

variable ?

(A) Salary

(B) Monthly fees
(C) Wealth

(D) None of these

(vi) 3’ MPC = 0.8, @ Yo% & Jd 81T : 1
(%) 2 @) 3
(®) 4 ® s
If MPC = 0.8, then the value of multiplier
will be :
(A) 2 B) 3
(C) 4 (D) 5

4911/(Set : D)



4911/(Set : D)

(9) 4911/(Set

(vii) PR ;X YgIT & HIT FEAR 8 -

() T

(@) e

(®) =

(=) afear gl

Demand of Car and Petrol is called :

(A) Complementary

(B) Substitute

(C) Unitary

(D) Inferior goods

=it w7 g8 & a1 T, IR -

: D)

State whether the following statements are true

or false :

(viii) Tofte-ardeme # |t R B AR A o

g fohar ST B

1

Macro-economics studies all kind of
aggregates or averages.
(ix) &al FT T FIFY BT B 1
Service Tax is an indirect tax.
P.T.O.
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(x) Gt sdFaen §# AD=C+1+G+X-M. 1
In open economy AD=C+ 1+ G+ X- M.

(xi) foRsh fafvm & 9 @6 &1 oOW W # R
T 2 1

The slope of the demand for foreign

exchange is upward.

(xii) "Principles of Economics" 1896 T e §":§

[ 1
"Principles of Economics" Published in
1896.

(xiii) It & & AfH B T ol 1

Supply can exceed stock.

(xiv) THIEER & ®H 91 SENT H1 ST<X @9 & S
2l 1

The difference between Firm and Industry

disappears in monopoly.

Fill in the blanks :

(xv) fasq AeMal & a9 .............. ol 1
(1929/1942)

Year of World's Great Depression was
............. . (1929/1942)
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(xvi) BEAM ......... A R 1

(EEdicTeT /aTdta)

Scholarship is ......... income.
(Transfer/Real)
[ -GS 999 |
[ Very Short Answer Type Questions ]

2. J% & § wafE FE & A TAEU 2
Write down the names of two primary functions
of Banks.

3. mafie & | 1 S B 7 2

What do you understand by Primary Sector ?

4. S0 fFmEd Y Fed 2 7 2

What do you mean by External Economies ?

5. TEIad Maw f5a wed § 7 2

What is meant by Autonomous Investment ?

6. Tl 9% 941 8 ? )

What is Indifference Curve ?
4911/(Set : D) P.T.O.



10.

11.

(12) 4911/(Set : D)
i’ qu ‘Wi § AR H 2

Distinguish between 'Stock' and 'Supply'.

gre & foT e ¥ oY 91 gHe © 7 2

What do you mean by Deficit Financing ?

[ TR 999 ]

[ Short Answer Type Questions ]

. T I # HE e ARy 4

Explain the Central Problems of an Economy ?

FA M, (TR) ¥ 7 (AR) T €Hid ™ (MR) |
Hee @ A B 4

Explain the relation between TR, AR, and MR.

M F ged ufawd e @ R 3@ & gerd 9
q?riﬁm 4

Explain the Law of Diminishing Returns to Scale

with diagram ?
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12.

13.

14.

15.

16.

(13) 4911/(Set : D)

oof Sfoafr B @ed © 7 3E grv RQarelt & avie
Eﬁﬁm 4

What is Perfect Competition ? Also explain four

features of perfect competition.

9T 56 1 S ROMcHe &af eidl & ? 4

Why does Demand Curve Slope Downwards ?

Ueh AT 1 EX GHT GO b AT i 4

Explain the concept of Domestic Territory of a

Country ?

‘B §F JU ‘AuRE SH’ H B FY oK @l
AT BT 4

Explain any four differences between 'Central

Bank' and 'Commercial Banks'.

‘@R QT TFAT PFIAOW QT F AR H A Hivw 4

Explain the difference between 'Balance of Trade'

and 'Balance of Payments'.
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[ e ITUHF 97 |
[ Long Answer Type Questions ]

17. A1 & Hd A9 HE FEd 8 7 W A @ FA @
fafey &t aren #if 24+4-6

What is Price Elasticity of Demand ? Explain the

'total expenditure method' to measure it.

g

OR
o | SR 5 P 9 & IR a d@gEe @ e
licrehl & @Rt & | i 2+4=6

What is Supply ? Explain the extension and

contraction of supply with table and diagram.

18. T NI & A Al @ @ Sk 6

Explain Quantitative Methods for Controlling
Credit.

YT

OR
&Y TOMT AR F F S T P AN F By A
o HHl & 7 6
What is meant by the Error of Double Counting

? How can it be avoided ?
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19. THIHR TT THIAHT FiRNFET | e Hifom 6

Explain the comparison between Monopoly and

Monopolistic Competition ?

e
OR
1 offest & U ot ST IR ¢ 6
g
(®03 #)
(i) woEd g da 150
(i) @SS Geam | Hich w
IR 25
(i) @ 40
(iv) = 25
(v) OTITE & 30
(vi) STEM 10
(vii) feBRram 12
(viii) FAf3E o 40
(ix) fEEEe =g 35
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Calculate the National Income with the help of

following data :

Rs.
(in Crore)

(i) Wages and Salary 150
(ii) Contribution of owners

in Social Security 25

(iii) Profit 40

(iv) Interest 25

(v) Indirect Tax 30

(vi) Subsidy 10

(vii) Rent 12

(viii) Mixed Income 40

(ix) Depreciation 35
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